(4) Whose movies have all made less than 20 million? (GRADING: CHUNGLAE)

RC:
{S.STAR| STARRED IN(S)AY(M,S,)(MOVIE(M)ASTARRED _ IN(S,) A

S.STAR = S,.STAR A M.NAME = S,.NAME = M.BOX _OFF < 20)}

Alternative solution:
{S.STAR | STARRED _IN(S)A—3(M,S,)(MOVIE(M)ASTARRED _IN(S,) A

S.STAR = S,.STAR A M .NAME = S,.NAME A M.BOX _OFF = 20)}

RA:
BIG « 7, R(O'B(,Xi orra0(MOVIE) [ Natural _Join] STARRED _IN)

ANS « 74,,(STARRED _IN)— BIG

(30 points) Problem 3. Consider the following ER model, which is an answer to a
question from Quiz #1. Transform this model into a set of relations. In the resulting
relational model, be sure to indicate each relation’s keys, as well as all of the foreign
keys. It is also OK to create any surrogate keys that you’d like. If you do, please point out
where those are. (GRADING: CHUNGLAE)

CED ECCD
\. ~_~
N
N

b department
>| employee =
1 1
Supervised
b

e ——
o A

| supervisor
project ‘




we— )
‘ Picked Up

-——'\J

Left\_/ 1 n
N At
1 Name
UPSCity
State
Hop
N nS(t;i;lC 4 N From Y1
Q)
Sched =%
On
Leg
Number N To 1
Capacity Departs
N X Took M
TimeOn . Arrives

ArrivesActua

DepartsActua



